Week 2 Writing Answers

Task 1: Modal Verbs
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Pasha must complete her homework.

He was so tired he couldn’t keep his eyes open.

Tom is a great footballer. He can even play in goal!

If she keeps trying hard, she might just have a chance.
He is still learning. He can’t do his shoe laces up just yet.
You shouldn’t hurt people or steal things.

2. Sentences that make sense and include the following words

a.

Will, should, would, may

Task 2: Apostrophes

Apostrophes for contractions:

1.
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You should’ve called me as soon as you heard!

Jen couldn’t remember where Rupert kept the remote.
“This is boring. When’s it going to start?” Lizi asked.
Ruth wanted to know why she’d not been selected.
Chris thought it’d be fun to start a cricket team

What are we going to do?
| must have left it behind.
She will be here soon.
How is your sister doing?
You have made it?

| have not got a clue.

Apostrophes for possession:

1.

o 0 T o

oo

The children’s smiles
The gorillas’ faces
The cherries’ stalks
The lizards’ tongues

The bear’s fur was pink.

. Joe’s bobsleigh had a crash.



c. The aliens’ ship was lost.
d. The cactus’s spikes were sharp.

Task 3: Suffixes

Some of the answers you could have give:

e -est

Smallest
Biggest
Loudest
Quietest
Smartest
Silliest
Rudest

0O O O O 0O O O

e -less

Helpless
Careless
Endless
Fearless
Homeless
Restless
o Useless
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e -ment

o Entertainment
Encouragement
Embarrassment
Excitement
Fulfilment
Attachment
Punishment
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® -ness
Shyness
Numbness
Fairness
Resourcefulness
Coolness
Dryness
Darkness
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Angrily
Badly
Accidentally
Evenly
Finally
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o Loudly
Slowly
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-ful

Mouthful
Painful
Careful
Helpful
Powerful
Colourful
Playful
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Task 5: GPS Test

1.

Those who believe that children should do chores for pocket money are wrong; they
should do chores because they belong to a family unit.

Boys’

You asked me a question and | will give you an answer. However, even if you don’t
like the answer | give, you still have to accept it.

For

Had

a. Notwithstanding the fact that it was her birthday, Zara was unhappy.
b. Despite the fact that it was her birthday, Zara was unhappy.
Expectation
You must complete the handwriting exercise.



